SAP ABAP table T5ITS2 {Amount-based pay scale jumps - number/amount-based ceiling}

TOO0O
MANDT [CLNT (3)]

T5ITS2-MANDT = TO00-MANDT _0- N

-7 T510
- MANDT [CLNT (3)]
. MOLGA [CHAR (2)]
-7 TRFAR [CHAR (2)]
g TRFGB [CHAR (2)]
T5ITS2-TRFGR = T510-TRFGR_ | TREKZ [CHAR (1)]
/ -7 TRFEGR [CHAR (8)]
-7 TREST [CHAR (2)]
-7 LGART [CHAR (4)]
TSITS2-TRFST = T510-TRFST /O/' N ENDDA [DATS (8)]

-7 T510A
()..1<I THITS2-TRFAR = T510A-TRFAR MANDT [CLNT (3)]

N 0..N''MOLGA [CHAR (2)]
i} TRFAR [CHAR (2)]

0..N Tt~ T510G

N \TSITSZ-LGART = T512W-LGART 4 ¢ MANDT [CLNT (3)]
RN MOLGA [CHAR (2)]

\ N TRFGB [CHAR (2)]

. R T512W

AN \TSITSZ-TPVAL = T5SITSV-TPVAL (3\1\7 MANDT [CLNT (3)]

N MOLGA [CHAR (2)]
N LGART [CHAR (4)]

~ ENDDA [DATS (8)]

RN T5ITSV
0..N | MANDT [CLNT (3)]

TPVAL [NUMC (2)]

ENDDA [DATS (8)]




